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3. A

Consider the following:

1. Carbon monoxide
3. Ozone

2.Nitrogen oxide
4.Sulphur dioxide

Excess of which of the above in the environment
is/are cause(s) of acid rain ?
@ 1,2and3

(c) 4only

(b) 2 and 4 only
(d) 1,3and 4

Consider the following:
1. Carbon dioxide.

3. Oxides of Sulphur

Which of the above is/are the emission/emissions
from coal combustion at thermal power plants?

2. Oxides of nitrogen.

(@) Lonly (b) 2and 3 only
(c) 1and 3 only (d) 1,2,and 3
layer in the earth’s atmosphere called

ionosphere facilities radio communication. Why?

1. Presence of ozone causes the reflection of radio
waves to earth.

2. Radio waves have a very long wavelength.

Which of the statements given above is/are correct ?

(@) 1only (b) 2only

(c) Both1and?2 (d) Neither 1 nor 2

The jet aircrafts fly very easily and smoothly in the

lower stratosphere. What could be the appropriate

explanation?

1. There are no clouds or water vapour in the lower
stratosphere.

2. There are no vertical
stratosphere.

Which of the statements given above is/are correct in

this context ?

(@) 1only

(c) Both1and 2

winds in the lower

(b) 2only
(d) Neither 1 nor 2

Which of the following statements is/are

applicable to Jain doctrine?

1. The surest way of annihilating Karma is to
practice penance.

2. Every object, even the smallest particle has a
soul.

3. Karma is the bane of the soul and must be

ended.

Select the correct answer using the codes given below.

6.

(@) 1 only
(c) 1 and 3 only

(b) 2 and 3 only
(d)1,2and 3

Consider the following statements regarding Bills:

1. A Bill that proposes to give effect to certain
Directive Principles of State Policy.

2. A Bill that attracts the provisions of Article 288.
A Bill seeking to operate a provision that
belongs to one of the Concurrent List entries, but
which is however repugnant to any Union law.

How many of the above State Bill will have to be

mandatorily

consideration?

reserved for the President’s

(@ Onlyone
(c) All Three

(b) Only Two
(d) None

Consider the following statements

1. CAG can be removed by the President only in
accordance with the procedure mentioned in the
Constitution but this does not mean that the
CAG can be impeached from office in the same
manner as a Judge of the Supreme Court.

2. Some public corporations are audited exclusively
by private professional auditors, and the CAG
may have no involvement at all.

3. The CAG can conduct legal, regulatory and
propriety audit but not performance audit.

4. The Constitution of India has not specified any
criterion for the appointment of CAG.

How many of the above statements are correct in

connection with the office of Comptroller and Auditor

General of India (CAG)?

(@ Only one

(c) Only three

(b) Only two
(d) All four



farfaf@a w AR fifew:

1. FEA-AA-3TFAES 2.8 3FAES

3. NS 4. TP SSITFATSS
areRoT # 39ded H @ fohaehl/foheteht 3iferehar
g § 3FT au g § 2

(a)1,2 3R 3 (b) hael 2 3R 4

(c) hadT 4 (d)1,3 3R 4

ffaf@a W AR fiew:

1. SIE SBIHTFAES 2.ATSeIST & ATFATSS

3. HoW & 3iTFass

ST H A FIA-H/DIA-H Scdolel ISHT ATkl
TIAT F FITT ggaT ¥ 3chford 8iaT 8/8ld 8?2

(a) hael 1 (b) el 2 31T 3

(c) shael 1 3R 3 (d)1,2 3R 3

el & agHAST A HAAHAST FeoW arell W
AT FAR 1 AR FATA §1 4N

1. 3ieier T 39T AWSAT Al &l gl 6T 3R
wrafdd T g

2. AT AT AT AT A’ & g §
3REd H U BIA-AU/HA-T FIT T o/8?
(a)hael 1 (b )hdel 2

(c)1 3R 2 gt (dysT ar 1 3R 7 & 2

gAagAST & fAgd oo # S RAw 9gd
e 3R Afdeaar & @y 33 @wa & e
39gFd FISEFIOT FAT 82 (2011)

1. GAAYHASS & foIdel T H digel AT STd-arsq
el 8|

2. GHAAYHAST & fadel 99T & FEAR UdsT 1gT
glciT

$H Hefl # IPAB H § FlA-AUDA-H HY
SR/ SUGF TISCIHOT g/

(a)hdel 1 (b) hdel 2

(c)1 3R 2 g=t daar1iRad2

frafaf@a & @ F9-318 F9a S Rgyea &

T B2

1. FH & faTse Flel H1 AT ART que=dt
gl

2. 9A% T A, II¢ I€ FEATH FOT g, IcA

eIl &l

3. A ATcA H T § AR 3aRT sTHT 3o
AT IRTI

AR feT T e w1 TG I T IR gEATI

(a) el 1 (b) el 2 3 3

(c) dhaer 1 3R 3 (d) 1,2 3R 3

Raysl & ey # @ syal W AR
oA

1. Th AU ot o & Afa Aderes Reurdr
FI AT T T JEATT HIAT gl

2. U fA9ge S 3ede 288 & U@l H
TR A T B

3. T A9gd S Te U UEU & Hdifeld
HA B ART HAT & S GAIAT g wfafeear 7
¥ T g, odfehet S fonelt off Sdrr _fyr & gfage
gl

39dad # ¥ o To fadge @ e
Tseufa & faarry 3Rf&a @& geme?

(a) hael Teh (b)dhaer ar

(c) @iy et (d) IS =TET

fAfefaa sy« w fEr fifed:

1. CAG & Tsgdfd garT digus # 3feaf@d
URRAT & HTER & GCRIT S HehdT &, oifehel
sghr 3T TE Al £ F cAc @ Had=w
AT & AT B a¥E & UG § germ
ST HheT &l

2. B FAolweh oAt #1 @i a9y & @
el R oEr gfiefRl @Rt fRAT STer g,
AR cAG FT sEH FS APNERT AL @ FHar
gl

3. CAG el faamds 3R e d@mader X

ThdT § oifchel gl I@OIETT 18T

4. HRA & HigUT H CAG #T fgfdd & fav =g

AAGs fAfése g forar o= g

R & 9% U9 #Age@r Weld (CAG) &

FEOT F WG H IFT A § el FUT TE

27

(a) Shael Teh

(c) hder el

(b) Shaet ar
(d) &l TR



8.

10.

11.

Consider the following statements

1. The Constitution of India has debarred the
retiring Election Commissioners from any
further appointment by the government.

2. In ‘Anoop Baranwal Case’ (2023), the Supreme
Court has directed the Government to treat the
Regional Commissioners on par with the
Election Commissioners (other than the Chief
Election Commissioner), as far as removal from
office is concerned.

3. Since its inception, the Election Commission had
functioned as a multi-member body.

4.  The power of superintendence, direction and
control of elections to the office of Vice-
President of India is vested in the Election
Commission.

How many of the above statements are correct with
reference to the Election Commission of India?

(@) Only one (b) Only two
(c) Only three (d) All four

Consider the following statements:

1. The poors are entrepreneurial and have innate
desire to come out of poverty

2. Urbanization needs to be encouraged

3. urban India is the real growth centre of Indian
economy

4. Urban poors have been lagging behind rural
poors

How many of the above are the core belief of
National Urban Livelihoods Mission?

(a) Only one (b) Only two
(c) Only three (d) All four

The Kisan Credit Card Yojana seeks to mitigate
financial shortcomings experienced by farmers
during three stages of cropping activity. Point out
which one is not included from the options given
below.

(@ During cultivation
(b) During harvesting
(c) During maintenance
(d) During marketing

Which of the following is not an expected impact
of the UDAY Scheme?

(&) Increased capital investment
(b) Free power supply to the under- privileged
(c) Development of renewable energy sector

(d) Availability of 24x7 power to all at affordable
price

12.

13.

14.

15.

Consider the following statements:

Statement-l1:  Every journalist should follow
journalistic ethic.
Statement-11 : It aids in the reliable, accurate and

balanced reporting of news by journalists.

Which one of the following is correct in respect of the

above statements?

(@) Both Statement-l1 and Statement-11 are correct
and Statement-Il is the correct explanation for
Statement-I

(b) Both Statement-l and Statement-11 are correct
and Statement-Il is not the correct explanation
for Statement-I

(c) Statement-l1 is correct but
incorrect

(d) Statement-1 is
correct

Statement-Il is

incorrect but Statement-1l is

Which strait separates the European and Asian
parts of Turkey

(a) Bosporus Strait
(c) Gibraltar Strait

(b) Dardanelles Strait
(d) Malacca Straits

Consider the following:
1. Gangetic plain

2. Gujarat

3.  Assam

The shale gas in India has been found to be in
abundance in how many of the above places?

(@ Onlyone (b) Only two
(c) Allthree (d) None

Consider the following statements:
1. Assam produces about 80% of jute in India.
2. Laterite and gravel soils are suitable for this crop

3. Hot and humid conditions are suitable for
growing jute.

4. Jute is commonly cultivated with wheat in

rotation.
How many of the above statements are correct?
(@ Onlyone (b) Only two
(c) Only three (d) All four



10.

11.

frfaf@a Fy=i W AR fieD:

1. 9Rd & Wique o darfeiga fadrae g
I AR arT fohalr o 3mr i gFa @ Iw
fe=r g

2. ‘3e]d STATST S (2023) H, ITUAH AT &
WHR FI [y A § & g7 d& 9 ¥ gt
1 HEY g, &TAT AW @ AT 3B
(AT aTEe 3ged & 3Helldn) & HA AL
ST

3. AYAT TUUAT & a1g b, fAdae 3maeT o 6
@-Wﬁm%mﬁm%m%‘l

4. IR & IWISCUA & Ue & IeAral & 3refieor,
AéeeT 3R e fr afFa o smaer &
fafea &1

AR & fdras 3aer & et # 3ea A @
et T TEr g2

(a) Hdel TH (b) daer ar
(c) haer oA (d) T8 IR
frfaf@a Fy= W AR Hife:

1. T FegAMS g § AR 3F e & e
3ol &I STedSTd STOT 8ial &

2. UEARIOT Y Ferar ST gIam

3. Y URd RAT cyaedr & aRdids
faera &g &

4. Iy I, FrEioT S @ Nos w €

39dad # @ foaelt TSET AEdr JrSliaer A
& HT AIAT §?
(a) Hdel Th

(c) shael diel

(b) Saot ar
(d) @Y IR

e %fSc w18 Ao F71 35327 e Afafafer
& e ot & ke fFamal gEnT sgea fr A
i RAT F F7 w@7 8 933 &F A9 R
7T {AFeul HF T Hla-ur afda g &2

(a) BT & SR (b) FeIS & SR

(c) TG & SR (d) fauor & gt

fmfaf@a & & sla-u1 359 Aewr F1 3T
gHT A8t &2

(a) qoit fovaer & gefer

(b) a2l Y Hhel fasTell 3mfel

(c) TTARONT FaT & &7 A

12,

13.

14.

15.

() A AP Hed W 24x7 faetelr
3qeedr

fArfaf@a Fy=t W AR ficd:

FUA-| JAH ISR Pl TIRIRAT I Afdehdr Hr
qTele] HelT aATRT|

FYA-Il Ig YAHRI RT FATART H TITHA,
& 3R Ao Raiféar & @errar e gl
3Fd FUAT & Gy H rfaf@a d @ sla-ar
e g2

(a) FUA-1 IR FUA-Il AT TE & IR FUA-I,
HUT-| HT TET TEAT §

(b) FUA-1 IR FUA-Il T TE § 3R FUA-Il,
FUA-| H TE AT A &

(c) HUA-1 TE & AP FUA-1l 30T §

(d) Y- 3T § Afched Y-l TEr &

T @ FosAwer gH & qAdT s ol
(a) SEURT TTSATALT

(b) STSAST STASHTHET

(c) ToisTeey TTsHTHEY

(d) HASIFRT TASHEHALT

frfaf@d w fEr At
1. 3@ FT HerA 2.
3. 3aA

AR # A A 3FT F § vl WU W
EENCIEI IR
(a) hdol Th

(c) et

EI RS

S

(b) FaeT ar
(d) IS TET

faf@d syt W AR Ao

1. 3HA AR HT STHIT 80% ST & 3cdGel Bl
gl

2. oirse AR o A s wEa & fou
SF Bl &

3.9 3= & faw e 3R g oRfRufaar
39 el &

4. S T Wl IAAR W A & Y FAEAT §
& S B

39dFd H O fohclel YT TET &7

(a) Hhad TH (b) hael ar

(c) shdel ol (d) &8 IR




16.

17.

18.

19.

Consider the following:

1. To reduce the impact of air pollution and dust

2. To create employment opportunities for local
people

3. Toarrest soil erosion at the embankment slopes

4. To promote idea of green deposit

How many of the above are objectives of Green

Highways Policy?

(@ Onlyone

(b) Only two
(d) All four

Consider the following statements:

1. This encourage cities in close proximity to and
dependent on wetlands to guard wetland in way
which disallow any kind of exploitation of
resources

2. Itwas adopted by Ramsar International in 2015

3. This voluntary scheme provides an opportunity
for cities that value their natural or human-made
wetlands to gain international recognition and
positive publicity for their efforts.

How many of the statements given above are correct

regarding Wetland City Accreditation?

(2) Only one (b) Only two
(c) Allthree (d) None
G-20 is an inter-governmental forum for

addressing certain global and regional issues.
Which of the following is true regarding its
functionality?

(b) G-20 works mainly for the maintenance of peace
and opposing colonialism and protection of
human rights

(c) It is concerned mainly with formulation of rules
for climate change

(d It is a group of countries to address and
coordinate issues relating to global economic

policy

A significant geographical aspect of Assam is that
it contains three of the six physiographic divisions
of India. Which of the following is the correct
combination?

(@ Peninsular Plateau, Northern Plains, Indian
Deserts

(b) Northern Plains, Himalayan Mountains, Coastal
Plains

F

(d) Islands, Northern Plains, Himalayan Mountains

20.

21.

22.

Consider the following and choose the right

statements about white gold in India:

1. Geological Survey of India (GSI) originally
mapped and detected presence of white gold
deposits in the Kashmir valley more than two
decades ago.

2. India presently imports most of its lithium
requirement from Bolivia

3. Recently India Signs Agreement for Lithium
Exploration & Mining Project in Australia

How many of the statements given above are correct?

(@) Only one (b) Only two

(c) All three (d) None

In what manner, the President of India can assign
any of the functions of the Union List to a State
Government?

(@) As per discretion of the President
(b) In consultation with the Chief Justice of India

(d) In consultation with State Government and the
Chief Justice of India

The Human Rights Commission of India is a
statutory body for protection of human rights.
Despite the fact, there is a decline in reporting to
the Commission about violation of human rights.
What is the plausible reason for the decline in
reporting?

(@) Lack of awareness about the statutory body

(b) Lack of faith of people in the statutory body

(c) Both (a) and (b) are correct

(d) None of the above



16.

17.

18.

farfaf@a o faar fifoa:

1. 9 GNUT Ud &l & TG I HH |

2. AT o9t & foT SRR & 3T ool
ST

3. dedY & oAl W fASE & &erd &l kel
4. gRA A&7 & AR I dgrar g

39ded # ¥ fohael gRa ToAET Afd & 35T
87
(a) hdel Th

(b) FadT ar
(c) hael i (d) T Ix
rafaf@a Fyat W AR oA

1. Ig AEHA & foiehe 3R 30 W R At
IEHA A W A F T AR war ¥
Tow oAt & A ff 9ER & algd Hr
IFATT et A gl

2. 38 2015 H UAW FAUAA GART 39T
AT AT

3. I Taleo® IIelell 3o7 AR &l J9ed YIATET &
T ARSI AT 3R PRIcHAS TIR AT
A BT A Tl Fchl § Sl HT=AT Tiepicieh a1
AT ATAT A @ Aeed ad £l

IEHA TR yARE & 9y § IR R oaw
fohdal ST Y &?
(a)had THh

(c) At

(b) el ar
(d) IS A&

20 Fo ARFF IR AT AE F FENUET F
T v FaR-WE AT §| AT FEGTHAT F
oy A Prfaf@a & @ Fia-ar a7

(a) T8 ARG rdcugeam, IR Oy 2R,
Sy URadel & Hegl IR Fad e A
Hafid 9@ Aegl A HOftd aa & fav wm
T B

(b)sh-20 HET & § Afd FaAC @A 3R
3ufaAderdg &1 Oy aRa 3R AR $Hr
&t & T & i B

(c) SHAT HY HET T { STefarg IRadeT & faw
e oo 4 &

(d)Fg dREew 3N Nfd & H&fd Heal
T e 3R T = & v g2t 1 v
I ¢

19.

20.

21.

22.

WA FT TF Hegcayqor slnfos wge a5 & &
AN 9Rd & o©F sifas vt & @ =
e § Aeafef@a & ¥ sl af s@ea
¥
(a) FRICATIT TR, 3 Heled, AR IEEdrt
(b) 3L FereT, faTery wda, A&7 AareT

(c) 3TX FHeTe, Tred UoR, BT add
(d) T, 378 AT, fgATerT gad

fAfRf@d W far Y 3k aRa & «@a
WO & I # ¥ FUwT g

1. AR AR FATOT (GSI) o Hel & & aF
gk ¥ AUk AT Ugel HHR Y H dd
ol & #ER & 3uRUfa & Afaer 3R gar
ST 2T

2. ARG A H  AYAT AT
3TARIHAT STl ¥ AT T gl
3.8 & # #Rg o 3eefor # s
3ayor IR @A gRAeer & v @Esiia )
gEaleR fohu|

FR feU 9T Fuar H & fhder T&r 82

(a) hadl TH (b) Shaer ar

(c) chait (d) 1S =TE

SR &1 weeafa e gewr | gt & e ot
I N Fd T5T TFER B | GEwar

(a) TS o fadepreTaR

(b) R & HET AT & WA

(c) TEfT T TWHR & WHT J

(d)TCT WHR IR ORT & JA&T ~AEAENr &
AT A

GIERE:

HRT HT AFIEFR HAT AAGTAHRE T G
¥ fav & dufas Awm 31 5@ 9ew F Ty,
AFAIASRT & Jeausd & IR H 3R & RAE
o A fRm@Ee ar @ & RO & fRm@e =+
wIfaa FROT F4T §?

(a) ¥enfoier P & aR F SAREHAT HT HAN
(b) denfae T & &R & e $r v
(c) @1 (a) 3R (b) HEY B
(d)39gFT H & FI$ LN



23.

24.

25.

26.

Consider the following Ramsar sites

1. They are important bird & Biodiversity area

2. They are situated in Tamil Nadu

3. They are Ramsar sites

4.  They are artificial water reserviour

How many of the above statements are common to
Magadi Kere Conservation Reserve, Longwood Shola
Reserve Forest & Karaivetti Bird Sanctuary?

(a) Only one (b) Only two

(c) Only three (d) All four

Which of the statements given below is/are

correct?

1. GNP is always higher than GDP.

2. If GDP is greater than GNP, then net factor
income earned abroad is negative.

Which of the statements given above is/are correct?

(@) 1 only (b) 2 only

(c) Both1and 2 (d) Neither 1 nor 2

Consider the following statements:

Statement-l : The development programmes

undertaken in India are oriented towards economic

growth along with social justice.

Statement-11 Indian economy is afflicted with

poverty, unemployment inequalities.

Which one of the following is correct in respect of the

above statements?

(a) Both Statement-1 and Statement-11 are correct
and Statement-1l is the correct explanation for
Statement-|

(b) Both Statement-l and Statement-ll are correct
and Statement-11 is not the correct explanation
for Statement-I

(c) Statement-1 is correct but Statement-11 is
incorrect

(d) Statement-1 is
correct

incorrect but Statement-1l is

With reference to the Bharat Bill Payment System
(BBPS), consider the following statements:

1. It is a RBI conceptualized system driven by
National Payments Corporation of India (NPCI).

2. BBPS services are available 24 hours of the day,
all days of the week, throughout the year
excluding public holidays.

Which of the statement(s) given above is/are correct?

(a) 1 only
(c) Both 1 and 2

(b) 2 only
(d) Neither 1 nor 2

27.

28.

29.

30.

Consider the following pairs:

1. SAMBHAV: End-to-end secure  mobile
ecosystem aiming to offer secure communication
2. Ugram Indian  advanced autonomous

heavyweight anti-submarine torpedo

3. Project Akashteer: A cutting-edge initiative
designed to automate air defense control and
reporting processes by digitizing them

How many of the above pairs are correctly matched?

(@ Only one pair
(c) All three pairs

(b) Only two pairs
(d) None of the pairs

Consider the following statements:
1. This award is given only to only Indian citizens.

2.  Recommendation for this is given by a
committee headed by Prime Minister of India to
the President.

3. Indira Gandhi was the first woman recipient

How many of the above statements are correct
regarding Bharat Ratna?

(a) Only one
(c) All three

(b) Only two
(d) None

He was a successful and ambitious ruler of the
ninth century belonging to the Gurjara-Pratihara
Dynasty. He successfully conquered areas of
Deccan and Malwa. He conquered areas of
Gujarat and Malwa from the Gujarat-
Rashtrakutas. He launched a campaign towards
Bengal and conquered territories of Gorakhpur
from the Palas of Bengal too.

The above mentioned lines refer to:
(@) Krishna Il (b) Mihir Bhoja
(c) Amoghavarsa (d) Dharmapala

Consider the following pairs:

1. Batken Region Kyrgyzstan
2. Matabari Port Myanmar
3. Sittwe Thailand

How many of the above pairs are correctly matched?

(a) Only one
(c) All three

(b) Only two
(d) None



23.

24.

25.

26.

frfaf@a TaER Tyal W AR fie:

1. @ FgcaquT ueh ua Sig fafaudr & g

2. 9 dffeRs # f&ud gl

3. I AW T gl

4. 4 FOAA F HSR §

3uded YAl A ¥ T FIET A EETT
IRTEFA, elleargs Mol IRTET a1 R FIgAe
gelr 3ReT & fov @A g2

(a) el Th (b) Shael ar

(c) haer dlel (d) |3fr IR

T RE 7w Foat F ¥ Fla-ard o 2

1. SfroardYy gaem SiEdr & 3ife giar 1

2. g SEdI, Sieadr & fge g, ar fager &
HAT ey FRF T TAHRHS &

39ded HYAT A § HlA-AVH TE 2/e?

(a) hael 1 (b) hdel 2

(c) 1 3R 2 g=t (d) T ar13iRaTE2
famfaf@a Fy=t W AR fic:

FUAA-I HRT H TJaA¥ S ® O siwA
3w o & WT-arg e F O FT 3R
37979 gl

FUA-Il AR Idegaear IS, RIS,

IHAAATIT T T B

39ded HYAT & Hou # Frifaf@d # @ sla-ar
e &2

(a)FUA-I IR FUF-Il T T & IR FUS-I
HYA-| HT TET AT

(b)FTA-I IR FuUA-Il QA FTE § IR FUA-I,
FHUA-| FT TET AT AT &1

(c) FU-I FEY & AfFeT HUA-Il 31T &

(d) FUA-1 AT § Afhed FUA-Il TET &

ARd e s yomen (deidivw) F west #,
farfaf@a Fy=t W AR Hic:

1. I§ ARG TSET 1A AT (TARNEIS)
gl

2. dITH JaW WSS Pefeodl B BISHT
@ Ay, godig & Tl At 7 24 €9 3uersy gl

3T YA A F HlA-AUA T B/E?
(a) sael 1 (b) el 2
(c) 1 3R 2 g=t (dFar13iRadr2

27.

28.

29.

30.

famfaf@a grat w A fifo:

1. GHa: US-g-Us TI&Id Hdgel IHITEH H
& AT HOR el el §

2. 3PA: AR 3eid TAR galde Teigesh e
RIS

3. GiSieRe SRR ar &7 Ao 3R Reféar
gfehar3it & fSceliawor it Taarfod # &
T f3airser &1 a8 T IcAryfaeh gge

3odad 7 & fohdet oA wd gAfea &2

(a) el Ueh JIH (b) shael & oA

(c) AT o (d) @IS o goar 7T

@ Fy= W R fie:

1. I RERR el HRAT ARTRST HI & fe27m
ST &

2. 3% for RAwRT 9Ra & gu=s #3r #r
HEIRTAT arell T dfATT garT Isgafd @ &
ST 2

3. gfer el s/ Uy arely Ugel Afgem ¥
39ded H @ fFae U 9T Tl & - H FgY
87

(a) dhadl THh
(c) oAt

QEEEEA
(d) 1S a7l

ag Atdl eaedl #1 UR A%d R Agcarsiah
AWH I S JER-9fAER Te@ea & wafod i
3 qaFd IR A F A W AhAaEs
fasra yrea 3R ERTA-IUSERS F OISR
3 AT F a4 W e yiod f) SR a9
N IR vh AW g WX S F ot F
IRER & &aF 7 it T g A

(a) 0T gfach (b) AR &
(c) 3rHATEaY (d) €3 ygTeT
frafafea goat W AR fif:

1. dehed 8T EatirIGH

2. ATAERT FE398 AR

3. daa USels
39T A @ fovdel gom @er gafaa €2
(a) hael TH (b) aeT &
(c) et (d) TS =Ter
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31.

32.

33.

34.

In the context of Indian economy, consider the
following statements?

1. The Fiscal deficit as percentage of GDP has
steadily increased in the last five years.

2. Gross tax receipt as a percentage of GDP has
steadily increased in the last five years.

Which of the statements given above is/are correct?
@ 1lonly (b) 2only

(c) Bothland?2 (d)  Neither 1 nor 2

Consider the following statements:

1. India has witnessed more than 50 percentage
decline of poverty headcount ration in last fifteen

years.
2. Non-fossil fuel sources account for nearly 60 per
cent of India’s total installed electricity

generation capacity
Which of the statements given above is/are correct?

(@ ZLonly (b)

(c) Bothland2 (d)

2 only
Neither 1 nor 2

In the context of Indian economy, consider the
following statements ?

1. Foreign Direct Investment (FDI) inflow into the
country in the 2014-23 period has tripled.

2. Post-GST period there has been decrease in tax
buoyancy of State revenue compare to 2012-16
period

Which of the statements given above is/are correct?

(@ 1only (b) 2only

(c) Bothland?2 (d)  Neither 1 nor 2

The Pradhan Mantri Street Vendors’
Atmanirbhar Nidhi (PM-SVANidhi) scheme aims
to empower street vendors. Which of the following
statements about the scheme is most accurate?

(@) It provides subsidized raw materials for street
vendors to reduce their operational costs.

(c) It is a scheme aimed at providing financial
assistance to small and medium-sized enterprises
for modernization and technology upgradation

(d) It provides free licenses and permits for street
vendors to operate legally.

35.

36.

37.

Which of the following statements BEST describes

the target beneficiaries and the scheme’s goals of

PM-JANMAN scheme?

(@) It provides financial aid for higher education to
all students from tribal communities.

(c) It offers reservations in government jobs for all
tribal communities.

(d) It promotes tourism in tribal areas to generate
economic opportunities.

The Government of India launched the PM

Schools for Rising India (PM SHRI) initiative.

Which of the following best describes the

program’s goals?

(@) To provide free and compulsory education to all
children between the ages of 6 and 14.

(c) To set up entirely new schools focused solely on
vocational training and skill development.

(d) To create exclusive residential schools for gifted
and talented students from rural areas.

A flowering plant produces a high energy nectar to
attract bees. When the bees feed on the nectar, bits
of pollen stick to them and are transferred to other
flowers.

Which of the following best defines the ecological
interaction between the flowering plant and the bees?

(@ Commensalism

(b) Predation
(d) Parasitism

11



31.

32.

33.

34.

HRAT rdegaedr & e A Arafaf@a wy=i
9T far #3%:

1. Fehel EXe] 3cUTG & Gl & ® H Tolehsg
arer Rod 9 asf & enar §er g

2. Ao 9T avt 3§ Feo W 3 F v
& T H Fohel HT TIMCT & MR & g3 &l
W U 3T FyAr H & HleT A/A Tl 8/8?

(a) hael 1 (b) Fael 2
SEETEC RN CC
frfaf@ad 9y« W AR 3

1. 9Rd # o Ugg a5t & TS BT FoT qe;T
# 50 gfderd @ 31 fr FREe & 75 8

2. 9RA & Fel TUMAT STl 3cdeet &fdar &
I-Shamed SuaT WAl T A9GRT  o9T8ET - 60
gfaerd gl

W U 3T FYAT H F HiT A/ Tl 882

(o) T 1 (b) 1 2

(c)1 3R 2 g=r daari1ikad2

HRAT rdegaedr & Wi A Arafaf@a sy«
T AR

1. 2014-23 &7 AT & ST H gcgel facel faawr
(FDI) T 9aTg ofiel =T g a1 gl

2. GST & dIg I 37af #H 2012.16 Fr qafer &r
qoleTT & AT & To¥d H AT IOTol A HAl 318
gl

IR QU a0 Fyar § & il T/ Tgr 882

(a) harel 1 (b) Fael 2
SESEE
quEFES  gu-fahar  areRfasik R (doa-

Fafaftr) Ao #1 3qaeT 9y-RFant s aEaw
TAET &1 AT F R H Aefaf@a # @ sl
W FAT T TEF 2

(a) T8 9U Tashdr3il & 3T aRETeT amerd o

F & U Fiewsr aremr sedl AT YT Hdl
gl

(c) TE TH ANSTeAT & et 3¢aed BIe 3R AvgA
PR & 3eIAT Al IYfheor iR e
3e1dd & forw O 8rIar v e §

35.

36.

37.

(d)TE Y Tahai3il & Hiefell T & HH H &
fow wpa aredw 3R wiAT e e B

ffef@a & @ a9 @ sya dva-saqa
AT F dfdd anniat sk e F et w7
TN ITST JuieT T &2

(a) TE 3Mearl FHET & Hl o # 3 e
F v fodiT ggar veraT ar gl

(c)TE @l migarl TRl & T @R
AlpRET 7 RETOT YT T Bl

(d)Fg 3w 3qEw Yo wa & fow nfearr
& & gdee &I Somar &ar &l

ARG @R o Ao Fpew B Wl s
(froar o) wgar & #1 Feafaf@a & & sl @
FAHA & A& HT TGV JTOT JUIT FIAT 87
(a)6 & 14 ¥ Fr 3 & FN Feal A {Ha 3R
Jifrary 8T gereT |

(X TRe ¥ cugards gfeor AR @lerer
faerrE WX Higd AT Aoy TUid S|

(d) ITATOT & & fdsmRmel 3R wfqsemel o1 &
forT T3y 3mardy faearerd S|

TF G drel dier AYFRFE @ OERT w9 &
T 3=a FAT a&T W 39U AT g a9
AYAFE W@ @t §, A Wer & For 399 g
I § 3R 3= pat F vuEaia & 9

frrafaf@d 7 & Fi o arer 9 3R FeHEEr
F dro gRfeufas dus # ga9 3= R &

(b) FR
(d) TShTaar
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38.

39.

40.

41.

Which of the following is NOT a central tenet of
liberalism?

(@) Individual liberty or freedom is a fundamental
value

(b) Individual freedoms may clash with similar
freedoms of others

(c) To alleviate conflict limitations on freedoms
may justifiably be made

(d) Freedom and equality are irreconcilable

Consider the following statements:

1. ‘Sengol’ signifies the transfer of power from
British to Indians.

2. It symbolises the Marathi culture of transfer of
power from one King to other King.

3. Sengol is a powerful symbol of the Chola Kings
authority and their commitment to justice.

How many of the above statements are correct in

respect of ‘Sengol”?

(@ Only one

(c) Allthree

(b) Only two
(d) None

Consider the Following Pairs:

Certification System Issued By

1. AGMARK APEDA

2. FPO mark Ministry of Food
Processing
Industries

3. ECO Mark BIS

How many of the above pairs are correctly matched?

(@) Only one (b) Only two

(c) All three (d) None

Scientists have developed a new method to
generate and manipulate attosecond pulses with
unprecedented precision, opening up new frontiers
in attoscience. They propose using these pulses to
create “atto-machines” capable of operating on
ultrafast timescales, potentially leading to
revolutionary technologies.

Which of the following potential applications of atto-
machines is MOST consistent with the capabilities of
attosecond pulses?

(&) Constructing a miniature spacecraft capable of
interstellar travel within a human lifetime.

(b) Developing a real-time imaging system that can
visualize the movement of electrons within
atoms.

(c) Building a quantum computer that can solve any
computational problem with infinite speed.

(d) Creating a teleportation device that can instantly
transfer objects between distant locations.

42,

43.

44,

Consider the following statements about Sangam
literature:

1. The narrative texts are called Melkanakku.

2. The didactic texts are called Kilkanakku.

3. Thirukkural is a major Sangam text.

4. Many Sangam texts were the works of brahmana

scholars.
How many of the above statements are correct?
(@) Only one (b) Only two
(c) Only three (d) All four

Match List-1 and List-1l and select the correct
answer using the code given below:

List-I List-11
A. Faulting 1. Yardangs
B. Wave erosion 2. Kettle Hole
C. Ice Scouring 3. Escarpment
D. W.ind erosion 4. Stacks
Codes:

A B C D
@ 3 4 1 2
() 4 3 1 2
c0 3 4 2 1
d 4 3 2 1

Scientists have developed a new type of solar cell
utilizing Quantum Dots with tunable bandgaps.
They claim this technology can achieve
unprecedented conversion efficiency under various
sunlight conditions.

1.  Quantum Dots emit light at specific frequencies
based on their size and composition.

2. In this solar cell, Quantum Dots act as tiny
antennas, capturing a broader range of sunlight
wavelengths.

3. The tunable bandgaps allow precise control over
the energy levels at which electrons can
jump, maximizing energy conversion.

How many of the above statements are correct
regarding the new Quantum Dot technology?

(@ Onlyone (b)
(c) All three (d)

Only two
None
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38.

famfaf@a & @ F9-91 3eRae &1 Fa Reuia
Ter 82

(a) SATABIT FIATAT AT FGAFAT Ueh Hifh Hed &l
(b) SATAHIT FIAAAT GEU I FAT FaAIAT & Tl

T &1

(c) TuY & FH A & AT Tadagar W dAw 3R

T T FATS ST Fehell &1

(d) TaAFAT 3R FATAT 3T &

39-

40-

41.

@ Fy=t W AR fieD:

1. Femer fafer & ARART FF a1 & gEAROT &1
g g

2. g UH Tl & g@X AT H Tl EAROT H
AAST TEPTT HT Tl 5l

3. e, AT et & AR IR A & gl
37T JTAaeydr & T AfFaemel Jdis gl

3dad # § frae e o dela & deu F Tl
&7

(a) FaT TH
(c) @Yy =T

(b) Faer ar
(d) IS =TET

farfaf@a grat W AR A

JHTOT JOTTelr CICURER NI

1. TITHTR APEDA

2.FPO HATH ey
JHERIOT
3R AT

3. ECO ATh BIS

39dad & @ Tl oA |er gafaa g

(a) haol Th (b) Hhaer ar

(c) At (d) IS G

sl ¥ reaqd aReEHar & W TeREs FO
Ic0ed FG IR W A F P v a8 [y
=T @ 3, owd sy & av #F ga w© 2
T &7 FYAT HT 3TN F& GU-AAAY T FT
YT FId § ST HeCThRE TBATHA GT FIH Hlel
# waw §, 1 wRE w7 @ Ffaen dig@ffeat
#r AT F S F

AT F efaf@d 7§ &la-ar @elad
AT USHhs &uall T &THAB & Ay qad
iR gaaTd g2

(a) ATAT Sfiaterd & M HA-dRHIT IrT A
HeTH Ueh o 3TcIRaT Il S o]

(b) T arEdfde AT AT Yomel faefld e
S IRATIIHT & T Selareldl &I Al Il W Heh|

42.

43,

44,

() TF F@CA FYX & fAATOT S FEr ol
HFGLATT FAEAT A 3eid afd @ T F Hehell
gl

(d) T MUNENST IYRIOT STl Sl X & A=A
e aE3 B [ FAART Tl 5

WA AT ¥ ) # Fefa@d s3+ | @fER
Hifa:

1. HEAACHS I, Addhalad; Fgald ol

2. 3UCATCHS oY, Fhedhelarsy Fgerd gl

3. faesFgRe U W@ HIH IY g

4. 3o HIH IY FEAV gl eant T )

3UFT A O fohcel HYeT TEr &2
(a) dhad TH (b) had ar
(c) shad el (d) el I

-1 3R gl w1 e Ao ik i Re T
% T 3TN F& TG R A

- i
A. H2UAT 1.3g78eT
B. deT 3TReel 2.%cd gl
c. R\ fFedor 3.arl
D. arg 3Ree 4. ¥H
Elgz_c,":

A B C D
(a) 3 4 1 2
(b) 4 3 1 2
(c) 3 4 2 1
(d)4 3 2 1

dfasl F Iqgesr A dEv F @y FEHA
figat &1 39T FF vF AC yER F AR Jd
fefa e & 3a@ gar @ & ¥ awiw
Rffe g # Aol i Rufa F srofaqd wveRor
Z&TdT SIS HT Al Bl

1. Faled f§g 39 AR AR =T & IR W
faflrse smafeat @ s seafia wa

2. 38 @R ¥ #, FaeH Rig oR WA F w9 A
FE A § A T F TR T S A T
foeqa H@er 1 JFERT Fd gl

3. 3efohelel AT AT Foll TR W Féh Fg=07
&1 AT <ar B f9E W ogdwel R @ g
T8 FaT FATROT AfHAFT 8 ST g

s FaieH g eI & dow # 3udFd # ¥
frdet wysT war &2
(a) had TH

(c) g8 et

(b) FaeT ar
(d) 1S &
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45,

46.

47.

48.

Which of the following is/are the effect of the
depreciation of the rupee?

1. Import of goods and services becomes cheaper.

2. Export of goods and services becomes
competitive.

Select the correct answer using the codes given
below:

(@ Zlonly
(c) Bothland2

(b) 2 only
(d) Neither 1 nor 2

Consider the following statements:

1. Standing Deposit Facility is an additional tool
for absorbing liquidity without any collateral.

2. Under the SDF, the eligible entities can place
deposits with the RBI on an overnight basis

3. Deposits under the SDF shall not be reckoned as
balances eligible for the maintenance of the cash
reserve ratio

How many of the above are correct With reference to

the Standing Deposit Facility (SDF)?

(@) Only one
(c) All three

(b) Only two
(d) None

Consider the following statements:
1. Itislaunched by a group of developed countries.

2. The initiative covers market access, investment
protection and investor-state dispute settlement.

3. India is part of this process and actively support
the initiative

4. It is a non-mandated, non-multilateral issue
under framework of WTO

How many of the above are correct With reference to
the Investment facilitation for development?

(@) Only one (b)
(c) Only three (d)

Only two
All four

Consider the following:
1. Land 2.
3. Labour 4.

Money
Capital

How many of the above are scarce economic resource?

(@ Onlyone
(c) Only three

(b) Only two
(d) All four

49,

50.

With reference to the TReDS,

following statements:

1. It is an electronic platform for facilitating the
financing/discounting of trade receivables of
Micro, Small and Medium Enterprises (MSMES)
through multiple financiers.

2. Only MSMEs can participate as sellers in
TReDS.

3. Only Non-Banking Financial Corporations are
permitted by the Reserve Bank of India (RBI) to
participate as financiers in TReDS.

How many of the statements given above is/are

correct?

(@) Only one

(c) All three

consider the

(b) Only two
(d) None

Which of the following best defines liquidity?

(@) The ability to convert a store of value to cash
(b) Uncertainty about the value of an asset
(c) The expenses of negotiating and executing an
exchange
(d) The amount that will be repaid at the end of a
bond’s term

51. Consider the following statements:

Statement-l: Cold water extinguishes fire more

quickly than hot water.

Statement-11: Hot water being at higher temperature is

converted to steam in lesser time which by stopping

combustion extinguishes the fire.

Which one of the following is correct in respect of the

above statements?

(a) Both Statement-I and Statement-I1 are correct and
Statement-Il is the correct explanation for
Statement-I

(b) Both Statement-l and Statement-11 are correct

and Statement-Il is not the correct explanation
for Statement-I

(c) Statement-l1 is correct but

incorrect

(d) Statement-I

correct

Statement-Il is

is incorrect but Statement-Il is
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45,

46-

47-

48.

fafaf@a & & Flaad T F F Fegew w71
woT B/e?

1. SEQ3HT vd JarHT 1 AT FEAT @ AT g

2. &gt 3R Fawit @ fota gfaeadf g S
gl

A feU AT e HT YA Wb HE IR G

() ¥Fae 1 (b) FaeT 2

() 1 3R 2am=r (d)sT ar 1 3R a7 & 2

@ Fy=t W AR fieD:

1. Turll S giaer 9 el JuriRas & aerar
B IFTMNT A & v v 3falkaw sgaor
gl

2. SDF & dgd, 919 IV Iqd M & IR
RIS F IF STHAT FX Tohell &

3. SDF & T&d ST I oehe IRIETT 3HeUrd o
A & forw aF AW iy & §7 H g7 AT
S|

T AT giaur (SDF) & e & 3udad A &
foraer @Y 87

(@) Hdd TH

(c) @& AT

(b) Saer ar
(d) S T

T Fyat W AR fife:

1. 30 faf@d &t & e WHg cany dled fmar
I B

2. 30 Ugd H NN qgu, fAaer Teetor 3R
faes-teg [Aare Auer enfder gl

3. #Rd 39 yfhar o fgear § 3R afpy &9 &
5T Ugel I GHYT AT B

4, WTO @ & dgd Ig Ue IR-3feha, IR-
sguel™ #ear ¢

g & fou foder glawr & deel & soa & @
foraer @er 82

(a) Fae TH

OEECIGIGH

(b) e ar
(d) &8 IR

frafaf@a w R fifo:

1. & 2 o

3. #H 4 qeir

3FT A O fohcel goler e Harere §?
(@) %ad TH (b) &aer ar
(c) oaar & (d) g8 IR

49-

50-

TReDS & ¥esf # frfaf@a sFyai W AR
oA

1. ¥% %% Radivasl & #Aegw @ geA, og 1R
ALIA 3egAT (MSME) & @R wifcadr &
faqaivor/ge @1 giawr & fau wh sdwcii@s
Y g

2. %ad MSME & TReDS & fashar & &0 & #mer
GIEGRT

3. Fad R-AFT T @At A ard Red
d&% (RBI) g@rT TReDS & fawaiwei & & &
ST St T AT ¥

FIW RU 70 Fy=t #§ & fras a8 882

(a) I TH (b) el @

(c) =t (d) g e

fArafaf@a & ¥ Fld waar # wEdaw T @
aftenRa &ar &7

(a) HeT F SR HI wAchal H dcolel I &THT|

(b) el Fufdr & Feg & ax & AfARTAdT

(c) B fRfaFEg w®w sadd &&= AR 34
frafead aa &1 @)

) @8 TR S &z & oE F 3T FA gERh
Sraa|

51.frff@d Fyaf W AR Ao

HYA-I: T G HT JoledT H ST AT AT T
318 dslt & g1 &

HTA-1I: I g e duAT W g &
PRUT HF AT & 99 F gRafdd & Siar
€ St &Eol Uehehd T T T &l B

39gFd HYAT & Hou A Aeafaf@a 7 @ @la
T e 8

(@) Y- 3R FUA-1l =t T § 3R FUF-1l
HYA-1 T Ter IIEAT ¢

@) FU-1 3R FYe-1l et TE & iR FUA-,
FYUA-1 T TET TTEAT 4T &

@) FUA-1 TET § ATFT FUA-11 39T &

() FYUT-1 3TT § ofchad HU-11 TET &
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52.Consider the following statements regarding the Big
Bang Theory:

1. The Big Bang Theory proposes that the universe
originated from a highly compressed and hot state,
expanding rapidly from a singularity.

2. The concept of the Big Bang Theory was first introduced
by Edwin Hubble in the early 20th century.

3. According to the Big Bang Theory, the expansion of the
universe is ongoing, and galaxies are moving away
from each other.

Which of the statements given above is/are correct?

(@) 1 only (b) 1 and 2 only

(c) 1and 3 only (d) All of the above

53. Consider the following pairs
Island Country

1. Socotra Island Somalia
2. Sulawesi Island Indonesia
3. Falkland Island Australia

Which of the above Island and Administrative
Country is correctly matched?
(@) 2 and 3 only

(c)1,2and 3

(b) 2 only
(d) 1 and 3 only

54. Consider the following

1. Boiling water

2. Land and sea breeze

3. Circulation of air around blast furnace

4. Heating of glass surface of a bulb due to current in
filament

In how many of the above heat loss is primarily due to
convection?

(@) Only one
(c)Only three

(b) Only two
(d) All four

55. Consider the following statements regarding

star formation:

1. Stars form from the gravitational collapse of large
clouds of gas and dust in interstellar space.

2. The process of nuclear fusion, where hydrogen
atoms combine to form helium, is the primary
energy source that powers a star.

3. Protostars are intermediate stages in star formation,

where a collapsing cloud has not yet initiated nuclear

fusion in its core.

Which of the statements given above is/are correct?

(@ 1lonly

(b) 2only

(¢) 1land3only

(d) All of the above

56. Consider the following statements regarding
tropical anticyclones:

1. They are characterized by low atmospheric
pressure at their centers.

2. They are commonly associated with calm and
clear weather conditions.

3. The Coriolis effect plays a significant role in
the formation and maintenance of tropical
anticyclones.

How many of the above statements are correct?
(@ Only one (b) Only two
(c) Allthree (d) None

57. Which of the following statements concerning
temperature is/are correct?
1. In winter season isotherms in Northern
Hemisphere are more or less circular on
continents.
2. Isotherms in the southern hemisphere are fairly
parallel to the latitudinal lines..
3. Continents are hotter in the summer and colder
in the winter than the oceans.
How many of the above statements are correct?
(@) Only one (b) Only two
(c)All three (d) None

58. First U.S. mission to collect a sample from an
asteroid. It returned to Earth on September 24,
2023 after collecting samples from an asteroid.
The spacecraft didn't land, but continued on to a
new mission. Meanwhile, scientists hope the
Asteroid sample which this spacecraft dropped
into the Utah desert will offer clues to whether
asteroids colliding with Earth billions of years
ago brought water and other key ingredients for
life here.

The mission in the paragraph refers to:
(a) DART (b) Psyche
(c) OSIRIS-Rex (d) Europa Clipper

59. Consider the following winds: ?
1.Sirocco 2. Mistral
3. Khamsin 4. Chinook
How many of the above local winds are

characteristically hot and dry?
(a) Only one (b) Only two
(c) Only three (d) All four
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52.fer dor Rgeia & gy # Arafaf@d Fu= | AR
CII

1. T do1 fAcyuia & a9 § & seAs fr 3
Icftd FNET AR T aewm A gg @ o
fareraTorar & oo & faeaa gr @ gl

2. o1 dor Rgid $r @uron ggdh a) 2047 Fé @
QB3N H USTAeT galel GaRT 42T 1 1S o |

3. farer dor figid & 378N, Feais &1 fawar oy § 3R
HTRIRMEANTE Teh GEX A GT ST @I &

39derd HYUAT A { ol T HET 3187

(a) Faerl (b) haer 1 3K 2

(c) a1 33 (d) 3ugerc @iy

53. farafaf@d g X AR Ao
CCIR) e
1. QYR gaig
2. Gt ediq
3. Bichols garg freeferar

39derd # U leT AT & 3R Jerrafaren a2 w6y gAfed 82

(a) Faar 233 (b) Faer2

(c) 1,23iR3 (d) Faer13is
54 faF W AR HifaD:

1. 3eldT 9Tl

2. 73 3R Ay gar

3. dTd Hgl & aRT 3R gaT T el

4. T H e & HIUT Tod ol i I Tdg T I3 gleTT
39derd A 9§ fohctel & AT gt HEAT: HAgeT o HRUT gleil
g7

(a) dhae T
(c) Shael el

(b) AT ar
(d) Fefr I

55. dRT fAATor & Haer & Aeafaf@d Fya W RER

ffoA:

3. R JHeR-ARH HAReT # 34 3N e & o3 Jreell &
TEcATHYOT Tefel § oTel & |

4. GTATI] AT T TfshaT, STgT gTg3Ietet IRAT] [Heiant
Sifoad g1 &, i@ FaT dg & S e ar o
A UGTeT T &

3. MeER dr F AT & Fegadt @RoT g, S8l U egd

STeel & 318fY ok 3791 FeT H TRATV] HeldiaT Y& e 1ohdT ¢ |

3G HYAl H A el TT/A TN 8/e?
() Saerl (b) Faer 132
(c) shaer 133 (d) SR welr

56. 3surhfeatNT yfdaswaral & day & Arafaf@d sy=t
R AR fife:
4. SoTch shal W 1o argHSNY calra & faIser gielt g
5. d 3MHAN W id 3R |1 Hiwa h Fufa a s e
gl
6. PRITAG w31a IcvrRfeaeT wfdashardt & fator
3R T 7 Agcaqot syfReT AT B
39gerd # 4 fohcel Y= TEI 82
(3) Fad TH (byhaer ar
(et & (d)apTS aTEt

57.d19AT & Hay & RAeafaf@d & @ Fia ava a0
TR e/e?

1. 1T ] H TR IMelTe 7 FHgTedal W FHATT 3@T
T IMeThR gl 8 |

2. gTeoft avere] 3 FHaTT 3@ 3r67efr Y@T34T o St
HATATAR gl o |

3. HETEWRT T Jolell H Hgledd AT 7 3t 18
AR aféat F 32 @ €

39gerd # 4 fohelal YT HET 52
(a) T Teh (b) Faer ar
() Tsfr T (d) 1S TET

58.f%HT &JgaE & FAHAT THA A ATl GgelT AR
e | IE U &IeTE @ A THAT A F 0G24
Ty, 2023 Ft et w Ater) siafar = 3w 74,
AfheT TF AT AT W TAar T 39 S, dafAst
#1 37AIg § ¥ aggare &1 e, o9 s sraRer g &t
FeT Yoreater 7 R 4, 5 T T g o i
3ET AT Ig gt & TR AT 416 aE e e 3
Staer & fore 3= yog@ dea ame 3

TR=d¢ & AT ¥ acad &
(@) stE (b) @TSH
(c) IrERTIFT (d) IUaT FerR

59. frafaf@a ganit w R fife

1. et 2. fAega

3. @A 4. R
3T A @ Tl T gard fafise &7 & a1
3R s g2
(a) HdeT TH (b) Shaer ar
(c) shae et (d) Tefr IR
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60. Consider the following statements about
genome sequencing:

1. Whole-genome sequencing involves determining
the complete DNA sequence of an organism's
genome.

2. The Human Genome Project (HGP) was an
international scientific research project that aimed to
sequence and map all the genes of the human species.
3. Next-generation sequencing (NGS) techniques
allow for the simultaneous sequencing of multiple

DNA fragments.

How many of the statements given above are correct?
(@) Only one (b) Only two
(c) All three (d) None

61. In a certain year, how many days are there
in the month of February?

Statement-1: In the 3 years preceding that year,
there is no leap years.

Statement-2: In the 3 years after that year, there
is no leap years.

Chose the correct one of the following

Choose 1 If the question can be answered by
using statement | alone but not by using statement
Il alone.

Choose 2 If the question can be answered by using
statement 1l alone but not by using statement |
alone.

Choose 3 If the question can be answered by using
either of the statements | or 11 alone.

Choose 4 If the question can be answered by using
both the statements together but not by either of the
statement.

(@1 (b) 2

©3 (d) 4

62. 6 kg of Rs 8/kg wheat is mixed with 3 kg of
another type of wheat to get a mixture costing Rs.
10/kg. Find the price of the costlier wheat.

(@) Rs 12/kg (b) Rs 14/kg
(c) Rs 16/kg (d) Rs 6/kg

63. A3T, D7R, G16P, J35N, M74L,?

(a) N102L (b) R126P
(c) P153] (d) Q163R

64. Fresh fruit contains 60% water and dry fruit

contains 20% water. How much dry fruit can be
obtained from 50 Kg of fresh fruits?

(a) 22 Kg (b) 25 Kg
(c) 28 kg (d) 30 kg

65. Each of the following question is based on given

letter series:

ABCDEFGHIJKLMNOPQRSTUVWXYZ

Which letter is seventh to the right of the thirteenth
letter from the left end?

(@S )T
() U (d) vV

66.Which letter will be sixth to the left of the

nineteenth letter from the right end of the English
alphabet series?

@M (b) N
() X (d) None of these

67.In the English alphabet, which letter will be
15th from right?

@0 (b) L
©K d)Q

68. If in a certain code, LUTE is written as
MUTE and FATE is written as GATE, then how
will BLUE be written in that code?

(@) CLUE (b) GLUE
(c) FLUE (d) SLUE

69. If in a certain language, MADRAS is coded as
NBESBT, how is BOMBAY coded in that
language?

(a) CPNCBX (b) CPNCBZ

(c) cCPOCBz (d) cQoCBz

70. 24: 60: 120 : ?
() 160 (b) 220
(c) 300 (d) 108

71. 123: 36:221?
(2) 69 (b) 89
(€) 72 (d) 25
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60.51911 3P HUT & IR | fFafafea sy R faar
Pifor:

1. QUi 3rshHv & Bt sfia & i1 &1 ¥qul S
3gerd Fiid e e g |

2. AFG SiFE REeHT (Tt Te siaRRisi asiHe
S uRkaieHT ot ST I5=a aHa gefadl & gt
ST BT 3 SR AFfRIT &1 Tl

3. 3TCH WGl B IHHUN (TASEN) qPh-Idh P ST
THS! D1 TP Y SHH &1 AN e &

Sudad HY H 3 fhd- gl 82
(a) bad b
(©) S5l

(b) pad al
(d) BIs ol

61. foralt af et wrE W fram A 1a &2

HYT-1: I IS T A b A 91 F IS ey el 2|
HYT-2: I IY b T1e b i a6 A BIS ATs TET R |
frafefed o 9 98t Ue &1 99 o

1 g, I UY BT IR Had U | BT IUANT HRab fadr off
Jhdl § AT Had HYF I| BT JUTNT B -8} [T off
oIl

2 g, af¢ UY BT IR Had HYF I1 DT IGINT HRab T Sff
w%%é%mammmmﬂmqﬁﬁmw
b gl

3 g, TG Uy BT ITR dad YT 1 1 11 F I fdlt Tob ol
TN TR T oI a5 |

4 T, A UY BT IWR Gl HYAl DT Th 1Y ST T
faar S gear g Afe Bt ot sy @ 7Y fean o g
gl

@ 1
(c) 3

(b) 2
(d) 4

62. 8 ¥Ud yfd framy arat 6 fatmy g @1 3 feama
TR UPR & g & Ty fArare frgor dar far srar
? st Fiua 10 30 ufa fpem 31 w8 A8
P 1A PO

(@) 12 39g/foean
(c) 16 ¥ud/fopum

(b) 14 TUT/f
(d) 63u/faru

63. A3T, D7R, G16P, J35N, M74L,?
(a) N102L
(c) P153J

(b) R126P
(d) Q163R

64. AT WA B 60% U glaT 8 iR g@ wa H 20%
gt ghar 81 50 fhahmy o vl @ fean g@r wa
T ot =T et 872

@) 22 fda
() 28 fopur

(b) 25 fam
(d) 30 fHur

agmﬁﬁmuﬂaﬂiaﬁmﬂ?mm

ABCDEFGHIJKLMNOPQRSTU VWXYZ

T BR A Red 9uf & & J Fidat quf Hi A 82
@ S (b)T
(ORY @) Vv

66. SiITt qUiHTAT Yae & gT¢ B | IS quf & arff
3R BT auf S |1 gh e

@ M
(c) X

(b) N
@) FTHIBE TN
67. 30oft guiHTaT A SR | 1591 9Uf S JT ERI?

(b) L
d Q

(@ O
(c) K

68. Of¢ U® fAfa ¥e ®§ LUTE &1 MUTE & &4 ¥ forar
ST 8 3R FATE &) GATE & ¥4 ¥ forar sirar @, &

39§ H BLUE I $4 forar g
() CLUE (b) GLUE
(c) FLUE (d) SLUE

69. afe fpdt fAf3a Wrar # MADRAS &t NBESBT &
w9 & e forar 9irar 8, a9 39 YT § BOMBAY &Y &4

Fe fHar o g&warg?
(@) CPNCBX (B) CPNCBZ

(c) CPOCBZ (d) CQOCBZ

70.24:60:120: ?

(@) 160 (b) 220

(c) 300 (d) 108
71. 123: 36:2217?

@) 69 (b) 89

() 72 ) 25
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72. Find the number of zeroes at the end of the

product 500!
(a) 100 (b) 124
(c) 120 (d) 125

73. The digit in the unit’s place of the product
(2464)1793 x (615)317 x (131)491 is
(@ 5 (b) O
(c) 3 (d)2

74. How many pairs of X and Y are possible in the
number 763X4Y?2, if the number is divisible by 9?

() 8 (b) 9
(c) 10 (d) 11

75. Which of the following numbers will always
divide a six-digit number of the form xyxyxy?

(a) 1010 (b) 10101
(c) 11011 (d) 11010

76. What is the LCM of 1.08, 0.36 and 0.9
(2) 1.08 (b) 0.9
(c) 10.8 (d) 5.4

77. In how many arrangement of the word
TEMPLE will the vowels never occur together?

(a) 120 (b) 240
(c) 480 (d) None of these

78. A's and B's age are in the ratio of 4:5. In four
years, the ratio of their ages will become 5:6.
What is B's present age?

(a) 25 years
(c) 30 years

(b) 20 years
(d) 40 years

79. A bag contains Rs. 50, Rs.20 and Rs. 10 notes in
the ratio of 3 : 5 : 8. The total value of all the
types of notes is Rs. 1650 find the number of
Rs.20 notes?

(@) 20
(c) 25

(b) 23
(d) 30

80.The ratio of monthly income of A and B is 5: 4.

If A spends Rs. 2000 and B spends Rs. 600 then
the ratio of their savings is 10 :9. Find the
monthly income of each person:

(a) Rs. 12000, Rs. 9600
(b) Rs. 12500, Rs. 9100
(c) Rs. 12500, Rs. 9600
(d) Rs. 12000, Rs. 9100

81. Acan do a piece of work in 12 days and B can do

it in 18 days. They work together for 2 days and
then A leaves. How long will B take to finish the
remaining work?
(a) 6 days

(c) 10 days

(b) 8 days
(d) 13 days

82. The distance between two stations A and B is
800 km. A train X starts from A and moves
towards B at 40 km/h and another train Y starts
from B and moves towards A at 60km/h. How far
from A will they cross each other?

(2) 3800km (b) 320km
(c) 300 km (d) 360 km

83. The average of 15 numbers is 20 and the average of
first five numbers is 18. What is the average of the
remaining numbers?
(@ 21
(c) 28

(b) 25
(d) 30

84. Saturday was a holiday for Republic Day. 14" of the
next month is again a holiday for Maha Shivratri.
What day was it on the 14th?

(a) Monday (b) Tuesday
(c) Thursday (d) None of these

85. Starting from the point X, Jayant walked 15 m
towards west. He turned left and walked 20 m.
He then turned left and walked 15 m. After this
he turned to his right and walked 12 m. How far
and in which directions is now Jayant from X?

(@) 32 m, South (b)47 m, East
(c)42 m, North (d)27 m, South
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72. O 500! F A H YA B wEAT A A

() 100 (b)124
(©)120 (d)125
73. OISR (2464)1793 x (615)317 x (131)491 HI FHE F
T FT IHF &
(a) 5 (b)o
(c) 3 (d)2

74. wEAT 763X4Y2 H X 3R Y F fraw gew waa €
afe @ear 9 ¥ Rusa

() 8 (b)9
(c) 10 (d)y 11
75. orafaf@a & @ i @ TE=GT gAAT xyxyxy T
&: A B gEAT F Ranfaa FE?
(@) 1010 (b)10101

(c) 11011 (d)11010

76. 1.08,0.36 3 0.9 FT TGAH FHGAF FAT g2
(@ 1.08
(c) 108

(b) 0.9
(d) 5.4

77. TEMPLE 2eg & el 3refshal & TaX H3ft vs @ry
(@) 120
(c) 480

(b) 240

(d) T & HIg T

78. A 3R B #Y MY F I 4:5 ¥ AR WA G
mﬁmmﬁmS:eaM|Baﬁa€mﬁm
T B

(a) 25 a¥
()30 @Ter

(b) 20 |
(d) 40 T

79.7% 4 # 3:5:8 & T H 50 FUA, 20 I AR
10 39F & Al § Wit yawR F A #7 FI qoT
1650 T 1 20 9 & At A FE&AT A HiST

(@ 20
(c) 25

(b) 23
(d) 30

80. A 3R B #ir ARAF 3T FT IquraT 5: 4 gl IR A,
2000 ¥9¥ 3 B, 600 T9F WH FIT § A 3T qEA
HT U 10 : 9 ¥l TAF FfFa T ARAF AT AT
Hfaw:

(@) %. 12000, &. 9600
(C) . 12500 ¥. 9600

(b) . 12500 %. 9100
(d) %. 12000, %. 9100

8l. AU &I F 12 el # & War & 3k Bsd 18
At F #F gFar 1 7 2 R % Y FA WS
? 3R T ATer JTaT B AT FE R QU FA A B
N fFaeT AT e
(a) 6 feeT
(c) 10 &=

(b) 8 feaT
(d) 13 fe=

82. Y ®eu=lt AR BF e i gft soo et 71 uw
& X, A¥ Y& G B #r AR 40 reveer i afa &
Todt § AN qEd & Y, B & g% gE AF 3 60
freliraer i afy & godt @1 A fhaet gt W T

qE FT G FAT?
(a) 3800 ThadT (b) 320 TeRaY
(c) 300 feralY (d) 360 feraT

83. 15 FEIm3it &1 3itwa 20 § 3 ggeht urwr wEImsit &
sitaa 18 §1 AW FEamit F a4 B2

(@ 21 (b) 25

(c) 28 (d) 30

84. afAar &1 o Raw 1 gedr 4 e 7R A
14 aiE F B FErfaEty fr gedt 71 14 afE 7
Pl @1 & ar
(2) MHAR
(c) TRaAR

(b) FITTAR

() 3519 & IS T

85.fdg X ¥ Y& &, AT 15 Hiex ufdasr #ir AN 7«
gg ardt AR Aq3r 3R 20 AT gem B 77 arft AR
731 AR 15 e @ FHF ¢ 9@ A I AW
73T 3R 12 #Aex Tan 3T ST¥ed X @ et gy 3k
fra fem # #7

(a) 32 #Hex, gfgor
(c) 42 HICY, 3

(b) 47 #HreX, q&
(d) 27 #Hrex, gfgoT
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86. Consider the following sequence that follows

some arrangement:

C_accaa_aa bc b

The letters that appear in the gaps are:
(a) abba (b) cbbb
(c) bbbb (d) cccc

87. Choose the word which is least like the other

words in the group.
(a) Diagonal
(c) Diameter

(b) Tangent
(d) Radius

88. Four children are sitting in a row. A is occupying

the seat next to B but not next to C. If C is not
sitting next to D, who is/are occupying seat/seats
adjacent to D?

(@B (b) A
(c)Band A (d) Impossible to tell

Direction:

In each of the questions below is given a
statement followed by two assumptions | and II.
Consider the assumptions and decide which of
them is/are strong in given statement. Choose the
correct answer from the given alternatives.

89.Statement: Many services related on government

are now brought under the Right to Information
(RTI) Act.

Assumptions:

I. It will bring in more transparency.
I1. It will bring in more accountability.
(@) Assumption | is strong

(b) Assumption 1l is strong

(c) Assumptions | and Il are strong

(d) Neither assumption I nor Il is strong

90.Statement: Conservation of rivers is very

important today.
Assumptions:
I. 1t will reduce water scarcity.
Il. It protects our ecosystem.
(@) Assumption | is strong
(b) Assumption Il is strong
(c) Assumptions I and Il are strong
(d) Neither assumption I nor Il is strong

91.Statement: All citizens have the right to challenge

a lower court verdict in high courts.
Assumptions:

I. Lower courts are not efficient, while the higher
ones are better.

Il. The possibility of error in the judgement may
exist.

(a) Assumption I is strong

(b) Assumption II is strong

(c) Assumptions | and Il are strong

(d) Neither assumption I nor Il is strong

92. Statements: Some mangoes are yellow.

Some Apples are mangoes.
Conclusions:
1. Some mangoes are green.
2. Apple is yellow.
(@) Only (1) conclusion follows
(b) Only (2) conclusion follows
(c) Neither (1) nor (2) follows
(d)Both (1) and (2) follow

93.Statements: Some ants are parrots.

All the parrots are apples.
Conclusions:
1. All the apples are parrots.
2. Some ants are apples.
(@) Only (1) conclusion follows
(b) Only (2) conclusion follows
(c) Either (1) or (2) follows
(d) Neither (1) nor (2) follows

94.Statements: Some papers are pens.

All the pencils are pens.
Conclusions:
1. Some pens are pencils.
2. Some pens are papers.
(a) Only (1) conclusion follows
(b) Only (2) conclusion follows
(c) Neither (1) nor (2) follows
(d)Both (1) and (2) follow
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g6.frafaf@a e W AR = N Fo sgaEwr =7

HTEIOT FIAT

C_accaa_aa_ bc b

AT H St 9ot fe@rs &a § 9§
(@) abba (b) cbbb
(c) bbbb (d) cccc

87.9% UE Yo SN WG & IHed UsAl & FH W FA

gafaa e
(a) faenot (b) TIE@T
(C) <" (d) ac?ill

889K dTd U Ufdd & &3 &1 A B & 9Tl gl TU
T AT & AT CF T9rer a1k T W g1 IR C,
D& 9T aIt T X AT 43T §, df D F T9rer arel
T 9T FiT do1 32

(@ B (b) A
(c) B3R A (d) ST FEHT T

feam:

AT RT T 9AF A § TF YT F 9OI¢ a
grRome |1 3R 1E 71§ &1 gRomat ) R #¥ 3k
T ™ fF 398 @ ST U@ Fua & waa 8 o
T fawedt ¥ & wH W T

89. HYU: WHK W I3 3§ Va1l Y 3 AT Fr
FAFR (IREITS) FlA F T8 a7 AT B

¢RUT:

| sa& 3R 31 aRefear 3ot

1. I8 318 3aieiidca o]

(a) ©ROT | §2reFd B

(b) &ROT || eI gl

(c) 9ROMT | 3R 11 G g

(d) o aF gRom 3R 7 & 1§ gl

90. FYT: AfAT FT HGIOT TS g AR B
YRUTTT

|. SO YT T FHAT HF el

Il Ig gAR aIRFEAfaenT a3 $r &I F:ar gl

(a) RO | {eEFd &

(b) YROT |l GUSFA g

(c) &RoMT | 3R 11 T §

(d) & df grom 1 3R 7 & 1 Taed gl

91. ®YeT: Tt AR A reflaey =ATET & Ay
N 3T A H Al &R F1 FfAFR
¢RUTTT:
| TR ST FR A6 &, et SO
T 98X ol
Il e & 3R i derraer Sl @ FaRd g
(a) ©ROT | G2 B
(b) RO |l G B
(c) 9RUMT | 3R 11 g gl
(d) & ar grom 13k 7 & 11 FgeFT g

92. FYA: F& A el T
Fo ¥ 3 ¢
foshy: 1. 3o 31 & &
2. 99 e B
(@) haer TASHY (1) ITEROT LT g
(b) Faer IS (2) 3FTETOT T E
(c) o ar fasehy (1) 3R & & (2) HTETOT LT &
(d) TIshY (1) 3R (2) Al ITEOT X &

93. FYT: Fo difear A ¥
ol A A &

faeeny: 1. geoly @9 aa g
2.3 difedl a9 g
(a) shael foIshy (1) 3TEOT LT B
(b) Shaer TSRy (2) HTEROT HT &
() a1 & foAshy (1) AT (2) 3TEOT T B
(d) & ar sy (1) 3R & & (2) 3TEOT AT B

94. FYA: TS FIIA FoH 8
sl 4 Fad &

W:l.@wﬁﬁgl
2. %0 FHeld HETS |
(a) shael foIshy (1) HTETOT HLT B
(b) Faer foshy (2) 3TEROT I B
(c) o @ forsehy (1) 3R & & (2) TEOT e &
(d)feTsehy (1) 3R (2) AT 3TEROT A §
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95.Let ABBC and DE2F be four-digit numbers
where each letter represents a different digit
greater than 3. If the sum of the numbers is
15902, then what is the difference between the
values of A and D? (2020)
(@)1 (b) 2
(c)3 (d) 4

96. A digit n > 3 is divisible by 3 but not divisible by
6. Which one of the following is divisible by 4?
(2020)

(@) 2n
(©)2n+4

(b) 3n
(d3n+1

97. If ABC and DEF are both 3-digit numbers such
that A, B, C, D, E and F are distinct non-zero
digits such that ABC+DEF = 1111, then what is
the value of A+B+C+D+E+F? (2023)

(a) 28 (b) 29
(c) 30 (d) 31

98. How many 3-digit natural numbers (without
repetition of digits) are there such that each digit
is odd and the number is divisible by 5?7 (2022)

(2) 8 (b) 12
(c) 16 (d) 24

99. Each question given below has a problem and
two statements numbered | and Il giving certain
information. You have to decide if the
information given in the statements is sufficient
for answering the problem. Indicate your answer
as:

It is 8.00 p.m., when can Hemant get next bus for
Ramnagar from Dhampur?

Statement 1. Buses for Ramnagar leave after every 30
minutes, till 10 p.m.

Statement 2. Fifteen minutes ago, one bus has left for
Ramnagar.

(1): If only one of the statements can be used to answer
the question not the other one.

(2): If either of the statement is sufficient to answer the
question.

(3): If both the statement have to be used.

(4): If the question cannot be answered using both the
statements.

(@)1 (b) 2
(©3 (d) 4

100. Each question given below has a problem and
two statements numbered | and Il giving certain
information. You have to decide if the
information given in the statements is sufficient
for answering the problem. Indicate your answer
as:

What is the birthdate of Sonali’s mother?

Statement 1. Sonali’s father remembers that his wife’s
birthday is after 20th and before 23rd February.

Statement 2. Sonali’s brother remembers that their
mother’s birthday was after 21st but before 25th
February.

(1): If only one of the statements can be used to answer
the question not the other one.

(2): If either of the statement is sufficient to answer the
question.

(3): If both the statement have to be used.

(4): If the question cannot be answered using both the
statements.

(@)1
(c)3

(b) 2
(d) 4
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95. AT ST A3BC 3R DE2F R 3=l & &AW §
S8 9% got 3 ¥ 92 TS HedT IF F T B
gfy TEgrat F1 A 15902 & df AR D& AW F
d e T4 AT 82 (2020)

@ 1 (b) 2

(© 3 ) 4

96.T&F 3(& n>3,3 ¥ RQaea & afed 6 ¥ o=
7T & @ # @ Fia-ar 4 7 s 2 (2020)
(a) 2n (b) 3n

(c)2n+4 (d)3n+1

97. ¢ ABC 31X DEFEET 3-37F T FEAT & 3T fF A,
B, C, D, E 3iIX F fliesT 327 3% & A4 f& ABC+DEF =
1111, A7 A+B+C+D+E+F T AT FIT g2 (2023)

(a) 28 (b) 29

(c) 30 (d)31

98. Y el 3-3/FT wigpfaw w&ad (3t
TRl & faem) € oo vdw i fawwr § 3k
HEaT 5 ¥ Qs €72 (2022)

(a) 8 (b)12

(c) 16 (d) 24

99. {1r R’T 71T yA+ e & v wHEAT & 3R o
o 131 1 FAIRT § N FO TR S §) I
Ig dF FIAT ¢ o FYaT H & 1 TAFR THTAT FT
3W & F v gafeqd § I Agh 319 3 56 YR
ddig:

U & 8.00 §91 8, §HT I YUTAR & THIR & v
3Tel S e Aol Fehell g7

FUT 1. TFHAIR & &0 §9 & 30 fAde & 91, TT 10
o d& ey Bl

FYA 2. Ugg THAC Ugel, Toh a9 THDR & [olT I@Tem
g ¢

(1): I 9T T 3R &7 & AT hael Uk FAT FHl

3931 foRaT ST TehdT 8, 31T T e

(2): IE PSS TP HUT T¥T FT 30K SoF & AT
aAeT Bl

(3): I T HUAT FT 3ITYAT LT ¢l

(4): I QAT FUAT I IYIRT HIF I&T H 3
sTet feam S |eharr Bl

(a)1 (b) 2

(c)3 (d) 4

100. I R”T 1T yA=F T & v gaEAT ¢ 3R @

Fuer 13 1 FAIRT § S o TwE a@ § TR
Ig T T ¢ B Fyal § & 1 IETe gHEAT F
W & & fav gafeq & a1 A 9= 3W 57 IFR
§dre:

ATl T AT HT FTeATATY FIT 82

HUT 1. GiolTell b AT T A6 & b 3oThl Tooll Fl
AT 20 HE & a1 AR 23 Wl ¥ g &l

HUT 2. ATl & HTS A TG § b 3eThr AT
SeATGeT 21 AT & d1¢ elfchel 25 WA ¥ Tgel T

(1): IfE 92T FT 3 A & AT Fad T FAA
I 3TN fhAT ST Fehll &, GEX T =TeT |

(2): IfE T FT 3W o & v FS o T
FUAT qATT gl

(3): I ST HUAT T YA FET B

(4): T QAT FHUAT FHT ST FF I HT 3”
sTe1 feam o |ehelr B

(a)1 (b) 2

(c)3 (d) 4
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